Equation Word Problems Assignment (Introduction, Solving Equations)
See below for the ANSWERS

1. The perimeter of a rectangle is 44. Its length and width are two consecutive
integers. What is the length of the rectangle?
2. There are 3 consecutive integers. The third integer subtracted from the sum
of the first fwo integers equals 9. What is the middle integer?
3. The perimeter of a triangle is 43 cm. The largest side is 4 times the smallest
side. The other side is 8 more than twice the smallest side. What is the
length of the smallest side?

Answers:
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